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M|w|L|B|c| sxt |L|T|K|N|E]|d Ha
RSH7WzM | 9 | 25 [315] 19 | 10 | M3x25 |19.7|34| 7 |18| — [ 15| — 2
RSHOWZM |12 | 30 | 39 | 21 | 12 | M3x28 | 27 |39 |91 |23| — [16]| — |29
RSH 12WZM | 14 | 40 |44.5| 28 | 15 | M3x3.6 |29.3| 45 [106| 3 | — | 2 — |34
RSH 15WzM | 16 | 60 |55.5| 45 | 20 | M4x45 |39.3| 5.4 [126| 3 |36 | — | PB107 |34

FA)LMTOY I LML= R—ILOMEICRT Y U AMZFER LTV 20T MRS MIREECENTVLE T,

U DIERGI

2 RSHOWZ M SS C1 +170L P M
—_— T T — T T

WOWE  BER LMU—JLEE | LML—)bht

Em=1C3)} (mmz&FxR) AT VLA

Ill%)lmlgﬁeﬁbm-u{.é)ﬁﬂ ﬁyg’)b?iiéﬂ’%(%z) S ()
70y L@ (Ees) /& C1 RI= 075 X
g BRSS/BIEC)  frans) i) e
(% 1)M1-558 FHERIM)SIR (x2)A1-7481 (x3)A1-863
BN1-320 HIK Eg%gé%;ﬂ%ﬁ%%ﬂ’ vaHhe https://tech.thk.com




4-Sx¢

W ‘ (E) L
B L1
#d —
| I 2 T T
F K = e} h [ N i O
M il R T s
=4 T TR )
W3 gdi
W2 Wi F
RSH 15WZMF
B mm
LML —)UE BEATREE| BHEFSE—XY K N-m* 5 2
_ . . MA ME MC LM LM
& =S¢ |EvF R&E*| C | Co ' 'a) @ 3094| L=lb
Wi |Wa | Ws | M | F |dixdexh | Max | kN | kN | 18 |2BZ%| 118 |°B2E| 118 | kg |kg/m
14_805 55| — | 52|30 |35%6x32| 400 |1.37|2.16|6.54 | 42.1|6.54 |42.1 | 15.4|0.018| 0.51
18_805 6 | — | 75| 30 |35x6%x45| 1000 [2.45(3.92| 16 |92.9| 16 |92.9| 36 | 0.03 | 1.08
24 7805 8 | — | 85| 40 [45x8x45| 1430 |4.02|6.08|24.5| 138 |21.7| 123 | 59.5| 0.06 | 1.5
42 _805 9 |23 |95 40 |45x8%4.5| 1800 |6.66| 9.8 |50.3| 278 | 44.4 | 248 | 168 |0.135| 3
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